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AP Phys: Projectile motion problem set 1

1. A ball is thrown with an angle of 12.0 ° to the horizon with a speed of 15.0 m/s. What are its
horizontal and vertical components?
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2. Draw the velocity vectors onto the balls below:
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3. A frog falls from its rainforest tree. If we ignore wind resistance, (a) how much time does it
take the frog to fall a distance of 12.0 rn? (b) how fast is the frog falling at this point?
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4. An arrow is launched with a velocity of 88.7 m/s at an angle of 33.0° to the horizontal. (a) What
are the horizontal and vertical components of the velocity? (b) How long does it take for the
arrow to reach its highest position? (c) How long does it take to fall back down? (d) How far
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